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D.] Draw the structure of each of the following:

(i) Hexagon (ii) Heptagon

Write the place value of the boxed digit:
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- g.] Rihanni had 2806 botties with her. She gave 1921 bottlesto her friends; How many

e following give R e - Py Sl : 7
i 'e | . I."g given number in figures and put commas correctly: ke L ol

even crore fift lakh four thousand and one (2) . Solution: L e SRR
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wl C.] Find the LCM of;

i) 18, 16 (i) 4, 12 2 Find the common multiples of 4 and 16
Soluticn == Soltion: ________ Solution:

e
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D.] Inaclass there are 30 students and each student has 2 pens, how many total number of
pens are there in a clags? = —
Solutlon: 3 L .
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Solution;

Q.5.A.] Identify the types of the following angles:

(i) U]}
o
\ 1200
5 Q o
Ans: Ans:
B.]1 Write the first six multiples of:

(i) 15 (i) 17
Solution: Soalution:




